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SA - BE - SRA(SIH) - IRAY -

By

Ofl &F2H

HE
0l &y

202 04|

1,764

3,640

01 S0

O Foaxg =30

70,0002 *3Z «12&+70/100

1,764

1,764

3,640

Zojelis =0 Xl

]

(B=X)

Mo W

4,707,924
3,205,547
423,713
988,664

4,707,924

Mo W

4,707,924
3,295,547
423,713
988,664

4,707,924

HH W

4,707,924
4,707,924
3,295,547
423,713
988,664

4,707,924

HH W

708,326
495,828

84,999
127,499

708,326

HoH W

708,326
495,828

84,999
127,499

708,326

MW

708,326
708,326
495,828

84,999
127,49

708,326

MW

402,783
281,948
48,334
72,501

402,783

Mo W

402,783
281,948
48,334
72,501

402,783

Mo

402,783
402,783
281,948
48,334
72,501

402,783
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Hr: Qo)) B Ol PEE =X A
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o LT e X (L LRt2l) 547,852 547,852 0
= 273,926
== 109,570
[Ea 164,356
101 e124d| 547,852 547,852 0
= 273,926
=S 109,570
s 164,356
04 JIZtN2Z2 XS 2 547,852 547,852 0
O ZoHel getd eXiel X2 547,852
-JlEgs, F5+E 458,413
= 229,206
=S 91,683
s 137,524
-2GHUUHEEES) 89,439
= 44,720
=S 17,887
s 26,832
ZOHQI L Rt  XI& (AR Xt2]) 100,944 100,944 0
= 50,472
=S 20,189
s 30,283
101 21AH| 100,944 100,944 0
= 50,472
= 20,189
Ea 30,283
04 JIZtN2 2N S 2+ 100,944 100,944 0
O HoHel AIZEMI EAtel XI& 100,944
-Jleg, FR+e 84,445
= 42,223
= 16,889
[Ea 25,333
-2GHUHEEES) 16,49
= 8,249
= 3,300
Ea 4,950
ZOoHQId Kl XI& (SXILX2l) 337,446 337,446 0
= 168,723
= 67,489
Ea 101,234
101 @12A4H| 337,446 337,446 0
= 168,723
= 67,489
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2A:
PSER
o e

el

Ar2l = X 2t
250 #
ol o

J
Ot

i)

=
o

Xl

=
08
I
JA
Il
>
>
o

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

308 XXM SOIH

HH W

7,045,384
4,931,769

634,085
1,479,530

6,810,355

HoH W

7,045,384
7,045,384
4,931,769

634,085
1,479,530

6,810,355

235,029

HoH W

116,354
81,448
10,472
24,434

65,868

308 AXIHMSO0IA

MW

116,354
81,448
10,472
24,434

65,868

@
b
N
el
on
2
f)
o
oY
0x

b
Ho

m
>
Q
[==

Mo W

116,354
116,354
81,448
10,472
24,434

65,868

JHRIRA AL

r
4

M

193,340
58,000
135,340

184,854

8,486

M

193,340
58,000
135,340

184,854

8,486

M H

193,340
193,340

58,000
135,340

184,854

8,486

LETHEAMEIA BIRH X(EX)

Mo

575,138
402,597

57,514
115,027

503,549

71,589

0

308 AtXIE

>

JIS0IA

[

HH W

575,138
402,597

57,514
115,027

503,549

71,589

A

575,138
575,138
402,597

503,549

71,589
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SA: ABIZXID
g3 250t M Jles 2EH =X A
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 57,514
s 115,027
ANL LR H*H XJ(EX) 15,170 15,170 0
= 10,619
< 1,517
= 3,034
308 XXM SOIA 15,170 15,170 0
= 10,619
== 1,517
o 3,034
13 SI[2S0He 4 A AS A 15,170 15,170 0
O AAHLS XS (IR AI) 15,170
= 10,619
=S 1,517
s 3,034
LEHOQ FHESHHIAXE 1,167,583 1,167,583 0
= 817,308
= 105,082
o 245,193
308 AtXIEMSOIE 1,167,583 1,167,583 0
= 817,308
= 105,082
Ea 245,193
183 S| 2SS SHAEAIE 1,167,583 1,167,583 0
O €23 F=1HaSAEIAXE
(IR HALY) 1,167,583
= 817,308
= 105,082
[Ea 245,193
2EI0ie =S AEAXA 165,476 165,476 0
= 115,833
= 14,893
o 34,750
308 AXIHMSOIA 165,476 165,476 0
= 115,833
& 14,893
= 34,750
18 SIS0t & AAS A 165,476 165,476 0
O 2 SUSSSMHHIAXIZ (B
=) 165,476
= 115,833
< 14,893
s 34,750

_300_




FA ASIS
Hr: Qo)) B Ol PEE =X A
cHRlr Hopel dEory XX (St &)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
LEHQ FHESHHIA FIIXAA 134,654 134,654 0
= 54,654
= 80,000
307 el2to| & 134,654 134,654 0
= 54,654
[Ea 80,000
1 AMISXAIEEXS 134,654 134,654 0
O ZEHMe FAESHBIA XA 134,654
s 54,654
s 80,000
ZOHQIEHOAIE XIRNHH 2H(EX) 95,526 95,526 0
& 25,792
= 69,734
307 elztol & 95,526 95,526 0
= 25,792
o 69,734
10 Al SXAAEEHE 22X 95,526 95,526 0
O Zojel HAALXNZHEH =24 95,526
= 25,792
o 69,734
SOl Al 138,485 192,077 A\53,592
307 212+01& 138,485 192,077 A53,592
10 Al2ISTIAIEEE 22X 95,545 110,737 A15,192
O 2FZFecss 29 X2 19,109
O NAHMHISHe 22X = 28 XA 19,109
O =i gsl 2F=2X2 248 K& 19,109
O =0lgs 2=z 29 X3 19,109
O ZUFR3 2F2XE 28 XA 19,109
11 AMEISXAEEES 42,940 81,340 A\38,400
O 2FZF0Asal Al X2 5,400
O NHHHISH 2= X2 At XA 3,540
O ZSEHEAES 22X AE K& 6,000
O s0tgsl 22Xl g XA 4,000
O A0S 2=z X2l ALY XIS 9,600
O HHIR23 2F=2XF AE X2 6,400
O ZoierE etirs el 8,000
ool At 20,000 20,000 0
307 @120l & 20,000 20,000
11 AMISXAIEEX 20,000 20,000
O ool At 20,000
o =stu= K& 5,000 5,000
307 lztol & 5,000 5,000 0

- 301 -




SA: ABIZXID
g3 250t M Jles 2EH =X A
cHRlr Hopel dEory XX (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 5,000 5,000 0
O el +=stus X3 5,000
AZEe! BXHnI(EX) 6,713 6,713 0
S 2,014
o 4,699
307 @120l & 6,713 6,713 0
== 2,014
s 4,699
11 ARIS XA E X 6.713 6.713 0
O Al Ee! HXtw= 6.713
[ 2,014
T 4,699
ZOHel CIADHM S HEfZet At 38,000 38,000
307 elzto| & 38,000 38,000
11 AMEISXAIEEXS 38,000 38,000
O HOHIQIAD S & HEAatAY 38,000
ZOHQIOHOIIHA S 2| X2 2,520 1,500 1,020
s 756
s 1,764
301 EtE NS 2,520 0 2,520
& 756
Ea 1,764
02 N 2EHSFHS(HAANS, KLHE) 2,520 0 2,520
O ZO0HQ! otolmA &2 XA 2,520
= 756
= 1,764
SEZOHR X S4HIE X (ExX) 2,000 2,000 0
= 600
o 1,400
301 EtE NS 2,000 2,000 0
== 600
o 1,400
02 NRI2HHSHS(HAAS, NLHE) 2,000 2,000 0
O HH8YMAESMHIE 2,000
== 600
= 1,400
LoI=X 58 88,104,211 90,529,100 N2,424,889
= 69,212,957
= 2,729,784
= 4,547,898
o 11,613,572
=3 XS (EX) 69,695,703 75,815,660 6,119,957
= 62,726,133

- 302 -




SA: ABIZXID
g3 250t M Jl=s 2EH =X A
gelr LoISX B8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,393,914
s 5,575,65%
301 EtE NS 69,695,703 75,815,660 6,119,957
= 62,726,133
== 1,393,914
[Ea 5,575,6%
01 AR 2EHSHS(RNEXRTH) 69,695,703 75,815,660 26,119,957
O JIxz¢= 69,695,703
= 62,726,133
=S 1,393,914
s 5,575,6%
DIESGE=SNI=1ON: D 1,458 1,620 A162
201 =3 1,458 1,620 A162
01 AlR22IH| 1,458 1,620 A162
0 JIZ0i3 92 E22E
1,620,000 *90/100 1,458
sk+g 3,000 6,000 /3,000
301 EtE N = 3,000 6,000 /3,000
02 ANRI2HALFS(HAAS, XNLHE) 3,000 6,000 A3,000
O g4 XN 50,0003 #50t+ 123 3,000
Lolg 2 XA (EX) 282,010 266,150 15,860
== 39,753
[Ea 242,257
307 212+01& 282,010 266,150 15,860
< 39,753
s 242,257
10 Al SXAIEEHE2EHI2x 184,010 178,150 5,860
O Lolg gdal At 189,010
= 39,753
o 119,257
O LolHH 23X 25,000
11 ARRIS XA E X 98,000 88,000 10,000
O Lo SASTAL 98,000
ool At 26,620 26,800 A180
201 er23 | 1,620 1,800 A180
01 At2teltl 1,620 1,800 A180
O Lolol & 238 NH
1,800,000 *90/100 1,620
307 gl2to| & 25,000 25,000
04 QIHHAIAIH 2 £ 25,000 25,000
O Lo1o & &AL 25,000
Colgiktel & AlBIESXIE EH(EX) 12,382,048 8,582,096 3,799,952
= 6,191,024

_303_




2A:
PSER
o e

el

AFSI =TI
D0 BN Ot 2

LoI=X S

BN =X A

I

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

A H

2,476,410
3,714,614

101 e124d|

HH W

1,758,990
879,495
351,798
527,697

1,665,900

93,090

04 JIZtHN2Z2 X S8+
ol Xtel Al S0 2SH|

HoH W

1,758,990
1,758,990
879,495
351,798
527,697

1,665,900

93,090

HoH W

5,000
2,500
1,000
1,500

5,000

01 AFS2t2ltl

O NPSE 79 L 840 S M

MW

5,000
5,000
2,500
1,000
1,500

5,000

206 =4I

MW

11,000
5,500
2,200
3,300

11,000

01 XM= 4l

O LolgielAty 225 P

Mo W

11,000
11,000
5,500
2,200
3,300

11,000

Mo W

11,000
5,500
2,200
3,300

Mo

11,000
11,000
5,500
2,200
3,300

11,000

307 212t01™

HoH W

10,596,058
5,298,029
2,119,212
3,178,817

6,889,196

3,706,862

11 ARRIZXAIE 2 X

10,596,058

6,889,196

3,706,862
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SA: ABIZXID
g3 250t M Jl=s 2EH =X A
gelr LoISX B8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O Lol XielArd X2 10,596,058
= 5,298,029
== 2,119,212
[Ea 3,178,817
colgNtel & A2 SKIE (Xl gt 591,600 360,337 241,263
= 295,800
== 118,320
[Ea 177,480
307 212+01& 591,600 336,466 255,134
= 295,800
= 118,320
o 177,480
11 AMISXAIEEX 591,600 336,466 255,134
O Lolgiiel =82 gdit XA 501,600
= 295,800
= 118,320
Ea 177,480
AlLIIZ2E 29X (ExX) 320,000 320,000 0
== 32,000
[Ea 288,000
307 212+01& 320,000 320,000 0
< 32,000
= 288,000
10 Al2IS XA EEE 22X 320,000 320,000 0
O AlLIZ2E 284 2x 320,000
= 32,000
= 288,000
ALIOIZ2E SAHK SE4+(EX) 9,000 9,360 A360
=S 2,700
s 6,300
307 21201 & 9,000 9,360 A360
< 2,700
[Ea 6,300
10 Al2ISTIAIEEE2HIEX 9,000 9,360 A360
O ALIGZE BAL SE4E 9,000
S 2,700
= 6,300
Ols=A2 28 20,000 30,000 10,000
307 el2to| & 20,000 30,000 10,000
11 AMEISXAIEEXS 20,000 30,000 10,000
O oIs=X2 28 XA (L) 20,000
HeE2E MAS Mot AAHE (ExX) 282,240 148,800 133,440
== 65,700
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SA: ABIZXID
g3 250t M Jtes 2EE =X A
el JOI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 2,628,143
307 gl2tol & 10,950,59 9,112,493 1,838,102
= 7,665,416
= 657,036
= 2,628,143
10 Al SXAAEEHE2EHI2x 10,950,595 9,112,493 1,838,102
O HAFAIE 28 10,950,595
= 7,605,416
& 657,036
= 2,628,143
oSS HEIE 2 56,680 97,976 N41,296
= 5,668
o 51,012
307 gl2tol & 56,680 97,976 A41,296
=S 5,668
s 51,012
10 Al SXAEEE 22X 56,680 97,976 N41,296
O Bjelssdaits 29 56,680
[ 5,668
Ea 51,012
ZOHRIAFAIE SOIEED| dEXS 5,400 5,400 0
= 3,240
S 648
[Ea 1,512
307 212+01& 5,400 5,400 0
= 3,240
=S 648
s 1,512
11 ARRIS XA E X 5,400 5,400 0
O HOHAAHFAIE SIIEEI| gl 5,400
= 3,240
= 648
o 1,512
O HF=AIE ElxXt XES 30,000 10,000 20,000
< 9,000
[Ea 21,000
301 2eEN= 30,000 10,000 20,000
S 9,000
= 21,000
01 AR E2EHSFS(RRNEERTHE) 30,000 10,000 20,000
O Z0A=AIE ST M2z 30,000
= 9,000
[Ea 21,000
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SA: ABIZXID
g3 250t M Jtes 2EE =X A
Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZOHRIHFAIA cctv BIEH] IR 5,700 5,610 0
= 1,710
= 3,990
307 el2to| & 5,700 5,610 0
= 1,710
[Ea 3,990
1 AMISXAIEEXS 5,700 5,610 0
O EOHAUAHFAIE cctv &lEH] X 5,700
s 1,710
s 3,990
ZOHRIHFAIE CIXE SSAY 22 3,716 3,716 0
= 2,601
=S 446
s 669
307 21201 & 3,716 3,716 0
= 2,601
S 446
[Ea 669
11 AMEISXAIEEXS 3,716 3,716 0
O E0AHFAIE TXE =SAHY 28| 3,716
= 2,601
== 446
o 669
gojelsxa =249 1,235,000 1,164,984 70,016
=S 247,000
s 988,000
307 @I2t01 & 1,235,000 1,164,984 70,016
< 247,000
[Ea 988,000
10 Al2IS XA EEE 22X 1,235,000 1,164,984 70,016
O Yofel=sx2 =29 1,235,000
= 247,000
= 988,000
e FUESHE 2 214,503 160,732 53,771
= 42,901
o 171,602
307 @120l & 214,503 160,732 53,771
s 42,901
s 171,602
10 Al2ISTIAEEE2HIEX 214,503 160,732 53,771
O Zoje =UESHE 29 214,503
[ 42,901
T 171,602
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SA: ABIZXID
g3 250t M Jtes 2EE =X A
el JOI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Zofel 2+ XJME 22 70,000 63,000 7,000
307 elztol & 70,000 63,000 7,000
10 Al SXAIEEHE 22X 70,000 63,000 7,000
O el 287 XdH 24 70,000
ZIOHe! QIAEE XZHH 2 72,000 72,000
307 gl2to| & 72,000 72,000
10 AlISXAZEE 22X 72,000 72,000
e AFEEXNZEH 2 72,000
ZoHe! HEO0ISKEHEH =24 183,921 170,725 13,196
[ 36,785
T 147,136
307 glztol & 183,921 170,725 13,196
= 36,785
= 147,136
10 Al SXAIEEHE 22X 183,921 170,725 13,196
O Yool H0ISA2HH 2& 183,921
= 36,785
Ea 147,136
el =HSHHYH =29 156,820 156,576 244
== 31,364
o 125,456
307 212+01& 156,820 156,576 244
< 31,364
= 125,456
10 Al2ISTIAIEEE 22X 156,820 186,576 244
O el +=0SHHH 29 156,820
= 31,364
= 125,456
0 MNHMEAIE 2 1,835,733 882,985 952,748
=S 367,147
s 1,468,586
307 @I2t0| & 1,835,733 882,985 952,748
== 367,147
[Ea 1,468,586
10 Al2ISTIAIEEE 22X 1,835,733 882,985 952,748
O e 2 2 1,123,415
< 224,683
s 898,732
O e Z2=AMgdE =24 712,318
= 142,464
Ea 569,854
JOHASXAIE SAHA SE+& 423,390 417,240 6,150
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SA: ABIZXID
g3 250t M Jtes 2EE =X A
el JOI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 127,017
s 296,373
301 EtE NS 423,390 0 423,390
= 127,017
= 296,373
02 ARSI X LGS (FHAAHS, NSWE) 423,390 0 423,390
O HSXAIE SAHL SE+E 423,390
= 127,017
o 296,373
FURAANE =2 2,961,165 2,807,179 153,986
= 2,072,816
= 888,349
307 212+01& 2,961,165 2,807,179 153,986
= 2,072,816
=S 888,349
10 Al SXAIEEHE 22X 2,961,165 2,807,179 163,986
O ZUIAE =29 2,961,165
= 2,072,816
[ 888,349
JUQAAIE SAA SE5E 74,160 0 74,160
s 22,248
s 51,912
301 EtE NS 74,160 0 74,160
& 22,248
Ea 51,912
02 MBI 2HEHSFHS(HAANS, KLHE) 74,160 0 74,160
O QAL S SEE+E 74,160
= 22,248
= 51,912
QAL HEZZ )| 13,280 13,280 0
= 3,984
o 9,29%6
307 @120l & 13,280 13,280 0
== 3,964
o 9,296
11 AMRISXAEEES 13,280 13,280 0
O ZAAE HEZZ | 13,280
== 3,984
= 9,29%6
SEIRAAE A HEH| 2,110 2,020 0
= 633
Ea 1,477
307 el2to| & 2,110 2,020 0
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2A:

Ar2l = X 2t

g3 250t M Jtes 2EE =X A
el ZoHI=EXAIE X2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 633
s 1,477
11 AMEISXAEEES 2,110 2,020 0
O SAQTAIE ABH Y] 2,10
= 633
o 1,477
ARISRAIE 28 2 7,200 4,800 2,400
201 fet= 3| 4,800 2,400 2,400
01 AtR2te|H] 4,800 2,400 2,400
O AlI=XIAE 298 2 4,800
301 22N = 2,400 2,400
11 AALEEIXIE S 2,400 2,400
O A2IZXIAE 29 2l 2,400
DOYQIZ AL JISEAA(E NALES FOIH0 20,000 0 20,000
Oll&t)
= 20,000
402 212 X201 & 20,000 0 20,000
< 20,000
02 QI XHE AL E R (01X THE) 20,000 0 20,000
O YLHAISE JIsELAY 10,000
s 10,000
O Olg0otsEESENAEH SZMEAY 10,000
= 10,000
LOIEXAIE X 11,245,463 12,271,854 A1,026,391
= 543,375
& 3,595, 161
Ea 7,106,927
COIMEAIE 2HHI(EX) 4,012,983 4,144,572 131,589
< 2,808,108
= 1,204,875
201 er23 | 1,400 1,400
01 At2teltl 1,400 1,400
O o3Il NESARIAS
E et 70,0002 x4 +53) 1,400
301 EtE NS 4,011,583 4,143,172 131,589
s 2,808,108
s 1,203,475
01 Al 2E AL S(SREXME) 4,011,583 4,143,172 A131,589
O L&@INeLS0HIS HES(AEESH) 4,011,583
[ 2,808,108
T 1,203,475
LCOIMEAlE BAX SESEH(EX) 75,960 126,000 250,040
= 22,788
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SA: ABIZXID
g3 250t M Jl=s 2EH =X A
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 83,172
301 EtE NS 75,960 0 75,960
=S 22,788
s 53,172
02 ARSI SE AT S(FIANS, XLETHE) 75,960 0 75,960
O LQIUSAESAA S84 75,960
& 22,788
Ea 53,172
MOt SXAIE 2E(2X) 3,493,341 4,706,907 21,213,566
= 349,334
o 3,144,007
301 EtE N = 2,128,341 3,399,745 A1,271,404
= 212,834
o 1,915,507
01 Al EE A S(FRNEXMA) 2,128,341 3,399,745 1,271,404
O L& LS0HIS HES(HIHSH) 2,128,341
== 212,834
o 1,915,507
307 elztol & 1,365,000 1,307,162 57,838
== 136,500
= 1,228,500
10 Al SXAEEHE 22X 1,365,000 1,307,162 57,838
O Mot=I=SXIAIE 23| 1,365,000
= 136,500
Ea 1,228,500
WOt QISXIAIE SAA SE2Z(EX) 31,320 32,400 1,080
== 9.3%
o 21,924
301 2= 31,320 0 31,320
[ 9,3%
T 21,924
02 MBI 2EHSFHS(HAANS, XLHE) 31,320 0 31,320
O MIIHcQISIIAE SAH S5 31,320
= 9,3%
= 21,924
ol E3 HO0PNAE 2S(2X) 48,708 46,620 2,088
= 14,612
o 34,096
307 @12t01 & 48,708 46,620 2,088
== 14,612
o 34,096
10 Al2ISTIAIEEE 22X 48,708 46,620 2,088
O o HIoANAEH 29 48,708
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SA: ABIZXID
g3 250t M Jl=s 2EH =X A
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 14,612
s 34,096
Z2g NY(EX) 911,242 835,812 75,430
= 182,248
Ea 728,994
307 gl2to| & 911,242 835,812 75,430
=S 182,248
s 728,994
11 ARRIS XA E X 911,242 835,812 75,430
O Z22g 23HI(2aH], 2talH], i) 862,080
< 172,416
[Ea 689,664
O HE - A 2HI(29HI, 2rAll,
ki) 49,162
= 9,832
Ea 39,330
F2g KA (XHA) 548,268 525,200 23,068
201 fer=3| 3,000 0 3,000
01 AtR2t2|HI 3,000 0 3,000
O 3z4g 24 X3 3,000
301 2eEN=S 545,268 525,200 20,068
02 MBI 2HEHSFHS(HAANS, XLHE) 545,268 525,200 20,068
O 324 F4H A= 525,200
O HE - A 2= Xd 20,068
deg dteyd & =4 XA 1,086,750 957,623 129,127
= 543,375
= 108,675
= 434,700
307 elztol & 1,086,750 0 1,086,750
= 543,375
< 108,675
= 434,700
11 AMEISXAEEE 1,086,750 0 1,086,750
O d2¢ dutgyl & 2=H X2 1,086,750
= 543,375
== 108,675
[Ea 434,700
d2d JIsEIAMY 787,500 727,000 60,500
= 100,000
= 687,500
401 Al HIZ 2018 617,500 526,000 91,500
= 100,000
Ea 517,500
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Mot 28

!

=]

S

LRISEXIAIE X

SA: AR =X
ocs

o™

K ZH -

of
i’
oF
uJ

&

=aak

-

nd
KIo

Hlw

HMEE
Ofl &k2h

Ofl &F2H

S - BE - BI(3) - NRAY - BAS

526,000 91,500

617,500
30,000
20,000

467,500

8,000
30,000
10,000

5,000
15,000
15,000
20,000
11,000

5,000
10,000
12,000
20,000
20,000
10,000
10,000
15,000
10,000

8,000
20,000

7,000

5,000
12,000

5,000

8,000
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N ote 28A

!

=]

S

LRISEXIAIE X

A ARISX
[

o™

XY ZH +

od
i’
o
uJ

&

=aak

-

KIO

Hlw

HE
0l &y

Ofl &F2H

20,000
10,000
10,000
6,000
20,000
7,000
7,000
6,000
8,000
12,500
10,000
7,000
17,000
6,000
30,000
100,000
15,000
15,000

iy

10,000
10,000

iy

10,000
10,000

Iy

10,000
10,000

Iy

15,000
15,000

Iy

10,000
10,000

iy

15,000
15,000

H

SRR

- SHRABA) - HRAY - BES

J13)
s &
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PEN =X A

N ot=

!

=]

S

LRISEXIAIE X

SA: AR =X
ocs

o™

T EH

of
i’
oF
uJ

&

=aak

-

KIO

Hlw

31,000
A31,000
2,000
2,000
2,000
8,028
4,500
4,500
3,528
3,528
39,643
1,743
1,743

HMEE
Ofl &k2h

201,000
201,000
48,000
48,000
48,000
121,720
30,360
30,360

ol vy

15,000
15,000
170,000
170,000

H

10,000
10,000
20,000
20,000
20,000
90,000
50,000
50,000
50,000
50,000
8,028
4,500
4,500
4,500
3,528
3,528
3,528
161,363
32,103
32,103
20,664

5,916

2,367

3,156
35,960

- SRA(3) - HIRAEY

- ESS

S LRE-L

N
&

5,000, 0002 *90/100

72,2003 x 128 10

2|

=

)

Ak
= 7%
A+ Al

=

[uis)
=)

=)

2|

e

H
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70,0002 x6Z «12&+70/100

|
SN
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(REXITH

bl Xl
g oL
SX M= 224

(HI=DIALR)

o

2|

AHE01H
| S XA
SH29

2
O 32E ZAIJIA 4X

3
04 JRHNZZ2XSE S

O Z2g XL

01 AtR2telbl
01 2L AL

(OR=;

11 At

307 212+01™
202 0|
101 e124d|

*52x 152

A=
78,8802

Mo rJ
O

78,8803 2 152

T
A0 i)

O

.

=
Il
nJ

aoF
nJ
<0
-
ok
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&l
80
=
04
[
H0 50
U D-
H0 o)
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78,8802 x2& 20
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8,000& 70

[*15JH 2~+90/100

=

1,000,000 #12
HEHE 22 20 M

50,0002 *4

01 AtR2telbl




SA: AR =X

B QS0) BM Ol HEHE =X Al
oels SOISXAE X2 EER=E)
SA - B BRA(SH) - HRA - of v G o HIDE2
O S|RXXZ0 2208 |SAE4H]
200,000& * 12043 2,400
02 S3=gHl 19,500 23,000 23,500
O Ald2te] 2323 2 AIEEHl |XIH
1,250,000& 123 15,000
O Xr&HI(AERIA E1) 4,500
206 M=l 13,500 10,000 3,500
01 MHZH| 13,500 10,000 3,500
O SESHRA sS4 E el & 7FH
3,000,000& #5390/ 100 13,500
401 AIZHIX S0HH 69,800 30,400 39,400
01 AlZ2H| 69,800 30,400 39,400
O S433EX 2T LEAE 69,800
802 grat=JIEt 10,000 10,000
03 DIEtEtE =S 10,000 10,000
O SESHIX ASBA oKl grets
833,300& * 124 10,000
SESTANE (HFSIH)RAE S 30,000 0 30,000
308 XXM SOIA 30,000 0 30,000
07 HXHH2LEES 30,000 0 30,000
O 238 s3td & RAE=HI 30,000
YA HHI(AIZI =X 76,511 88,008 A11,497
J1I=23Hl 76,511 88,008 A11,497
Jl=23H] 76,511 88,008 A11,497
201 el 42,599 51,528 28,929
01 At22t2lt] 33,599 39,528 N\5,929
O Ate2telt] 37,332,000& +90/100 33,599
2 s5=34l 9,000 12,000 A3,000
O =234l 9,000
202 O4H| 27,972 30,240 N2,268
01 2LHA LI 27,972 30,240 N2,268
O =Ud 4l 90,0002 *37& *12&+70/100 27,972
203 gF=4| 5,940 6,240 A300
M FA2HLRFAI 5,940 6,240 A300
O A2I=XEd SR8
495,000 <123 5,940
HRES(AIEIS XD 1,332,233 1,332,233 0
LIS HHXIE 1,332,233 1,332,233 0
S HHXIE 1,332,233 1,332,233 0
701 JIEtI HSHES 1,332,233 1,332,233 0
01 JIEII AN ES 1,332,233 1,332,233 0
O A2 =2SHISEH &= 1,332,233
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